8200

Montagehandleiding

Haas
Lapin
Kaninchen
Rabbit

Notice de montage
Assembling manual

Leeftijd:
Age: 2-6
Age group:
Alter:
Edad:

EUROPLAY nv

Eegene 9

B-9200 DENDERMONDE
tel. 32.52.22 66 22
fax.32.52.22 67 22
www.europlay.eu

Montageanleiting

Instrucciones para el montaje

Dat.: 10/05/2012
Page: 1/5

VALHOOGTE / HAUTEUR DE CHUTE ,
FALL HEIGHT / FALLHOHE / ALTURA DE CAIDA

506

VEILIGHEIDSAFSTAND / ESPACE DE CHUTE / SAFETY AREA /
SICHERHEITSABSTAND / ZONA DE SEGURIDAD

AFMETINGEN
DIMENSIONS
MASSE

DIMENSIONES
L: 930
H: 890
Br: 300

=
.

2300

2929




8200

Montagehandleiding -- Assembling manual | Dat.: 10/05/2012

Instrucciones para el montaje
Notice de montage -- Montageanleiting Page:2/5

Benodigdheden -- Liste des pieces -- Requisites -- Bendtigtes -- Accesorios

M10 x 135 1X
| | I
] Verzinkt staal
M10 x 145 1x
4x

Polyamide

2%
Verzinkt staal % M ] O

D OQX

Gegalvaniseerd

1x
1x 4x
Staal Staal
4x ﬂmm:[l ) 4x (I
Verzinkt staal Verzinkt staal @
M10x30 M10x25
= Y @
Verzinkt staal Verzinkt staal
M10 MI10
* o " O
Verzinkt staal Verzinkt staal
M10 M10




8200

Montagehandleiding -- Assembling manual
Instrucciones para el montaje

Notice de montage -- Montageanleiting

Dat.: 10/05/2012

Page:3/5

0600

1150

1418

500mm *

2300

2929




Montagehandleiding -- Assembling manual
Instrucciones para el montaje
Notice de montage -- Montageanleiting

8200

Dat.: 10/05/2012

Page:4/5

a0 g

I\/\]OX]45®>@
Q /W

e~ ‘\,:J‘. 9
a) Y \ \

M10 x 135

=




8200

Montagehandleiding -- Assembling manual
Instrucciones para el montaje
Notice de montage -- Montageanleiting

Dat.: 10/05/2012

Page:5/5




	p1
	Drawing View22
	Drawing View23
	Drawing View24

	p2
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View25

	p3
	Drawing View26
	Drawing View27

	p4
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View28
	Drawing View29

	p5
	Drawing View30
	Drawing View31


